
15. В-1 г. Брянск. Решите неравенство 𝟏 + 𝐥𝐨𝐠𝟐 𝟗𝒙𝟐 + 𝟓 ≤ 𝐥𝐨𝐠 𝟐  𝟖𝒙𝟒 + 𝟏𝟒. 

Ответ.  −∞;  − 𝟐  ∪  −
𝟏

𝟐
;
𝟏

𝟐
 ∪   𝟐;  +∞ . 

Решение.  

ОДЗ.  𝟗𝒙𝟐 + 𝟓 > 𝟎
𝟖𝒙𝟒 + 𝟏𝟒 > 𝟎

 ; 𝒙 ∈ 𝑹. 

𝟏 + 𝐥𝐨𝐠𝟐 𝟗𝒙𝟐 + 𝟓 ≤ 𝐥𝐨𝐠 𝟐  𝟖𝒙𝟒 + 𝟏𝟒; 

𝐥𝐨𝐠𝟐 𝟐 + 𝐥𝐨𝐠𝟐 𝟗𝒙𝟐 + 𝟓 ≤ 𝐥𝐨𝐠𝟐𝟎,𝟓(𝟖𝒙𝟒 + 𝟏𝟒)𝟎,𝟓; 

𝐥𝐨𝐠𝟐 𝟐 𝟗𝒙𝟐 + 𝟓 ≤ 𝐥𝐨𝐠𝟐(𝟖𝒙𝟒 + 𝟏𝟒);   т.к. 2>1, то 𝐥𝐨𝐠𝟐 𝒕 – возрастает и  

𝟐 𝟗𝒙𝟐 + 𝟓 ≤ 𝟖𝒙𝟒 + 𝟏𝟒; 

𝟖𝒙𝟒 − 𝟏𝟖𝒙𝟐 + 𝟒 ≥ 𝟎; 

𝟒𝒙𝟒 − 𝟗𝒙𝟐 + 𝟐 ≥ 𝟎; 

𝟒 𝒙𝟐 − 𝟐  𝒙𝟐 −
𝟏

𝟒
 ≥ 𝟎; 

𝟒 𝒙 −  𝟐  𝒙 +  𝟐  𝒙 −
𝟏

𝟐
  𝒙 +

𝟏

𝟐
 ≥ 𝟎; 

 

 

 

𝒙 ∈  −∞;  − 𝟐  ∪  −
𝟏

𝟐
;
𝟏

𝟐
 ∪   𝟐;  +∞ . 
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